Chapter Seven Practice Test #2 Best Wishes to ML
Trigonometry

1. Determine whether ALMN is a right triangle given the following vertices:
A(-1, 1), (2 2), C(3, 5). Explain your answer by showing your work.

Af) l_ﬁ '\}ﬂ;“irf)(l w\]-l‘l’l o
bl \l(i_,,l) +(5-2)"=\[25+9 3 \I'T \E ! @:‘1 EN |
xr(o 1 +(5- i) \“tgiéz}g 22 = 34 \\@

.33*1 = 34
2. Two joggers run 8 miles north and then 5 miles west. What is the shortest distance, to the
nearest tenth of a mile, they must travel to return to their starting point?
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Determine whether each set of measures are the sides of a right triangle. Then state
whether they form a Pythagorean triple.
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For problems 7-10, write your answers as simplified radicals.
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Find the missing measurements using Pythagorean Theorem, Trigonometric Ratios, Law of
Sines or Law of Cosines. Round to the nearest tenth.
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15. When the angle of elevation to the sun is 52°, a tree casts a shadow that is 9 meters long.
V\/hat is the height of the tree? Round to the nearest tenth
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15. A person snorkeling sees a turtle on the ocean floor at an angle of depress;on of 38°. Sheis
14 feet above the ocean floor. How far from the turtle is she? Round to the nearest foot.
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16. From her hot air balloon 100 feet up, Ms. Parnell spots two students on the ground. The
angle of depression to student A is 35 degrees and the angle of depression to student B is 20
de,grees How far apart are the students to the nearest tenth?
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Solve each triangle. Round all answers to the nearest tenth.

28. mAC 65, Cr 42 and a = 38. 29. mAB; 108° a= 42 and ¢ = 61.
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